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® 3(x+2)=15
3x+6 =15
3x=15—-6
3x =9
x =3

BZ x =3

® 4(x—-3)=2(x+1)
4x — 12 =2x + 2
4x —2x =2+ 12

2x = 14
x =7
BZ x=17

® 6(2x—1)=4(x+5)
12x — 6 =4x + 20
12x —4x =20+ 6
8x = 26

26 13
Y=g~ 13
Bz =

4

@ 4(x—-2)=302x-5)
4x —8 = 6x — 15
4x —6x = —15+8

—2x = —7
7

X =z
2

0%
i

7
X=5
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%Al 2

@ 2(x—4)=10
2x —8 =10
2x =10+ 8
2x =18
x=9

B2 x=9

@ 5(x+2)—3=2x+7)
5x+10—-3=2x+ 14
56 —2x=14—-10+3
3x =7
7
X ==
3 7
B =3
®

7(x+3)+2=5(x+7)
7x +21+2=5x+35
7x —5x=35—-21-2
2x =12
X=06

B2 X =06

32x —5) =2(3x—4)
6x —15=6x—8

6x —6x =—8+ 15
0=+47
CNIIFBET DCOHRSEFELIRU),

B2 A7 L

Potaschool Print EI A Cl
PlsoUpiy.



